Replication codes for:
Do parenthood worries impede the birth of a second child? Differences according to the parent's gender and spousal support in Finland


STATA codes for the final analyses of RQ1a: 
Specific parenthood worries in relation to the probability of a second birth
/*Binary logistic regression analysis. Outcome variable: secbirth (0 = no, 1 = yes); specific worries as independent variables: a82_1D a82_2D a82_3D a82_6D; the rest of the variables are control variables. Cluster robust standard errors were estimated by using the ‘vce(cluster lapsenIDy)’ command.*/
logit secbirth c.age c.childage i.educat i.union i.employ i.finance3 /// 
i.gender i.spousup i.a82_1D i.a82_2D i.a82_3D i.a82_6D, vce(cluster lapsenIDy)

/*Predictive margins (i.e., predicted probabilities shown in Table 2, model 1a) for specific worries*/
margins, at(a82_1D=(0 1)) predict(pr) 
margins, at(a82_2D=(0 1)) predict(pr)
margins, at(a82_3D=(0 1)) predict(pr)
margins, at(a82_6D=(0 1)) predict(pr)

/*Average marginal effects (AMEs) and their 95% confidence intervals*/
margins, dydx(*) predict(pr) level(95)




STATA code for the final analysis of RQ1b: 
Accumulation of parenthood worries in relation to the probability of a second birth
/*Binary logistic regression analysis. Outcome variable: secbirth (0 = no, 1 = yes); independent variable: sumworry2; the rest of the variables are control variables. Cluster robust standard errors were estimated by using the ‘vce(cluster lapsenIDy)’ command.*/

logit secbirth c.age c.childage i.educat i.union i.employ i.finance3 /// 
i.gender i.spousup c.sumworry2, vce(cluster lapsenIDy)


/*Average marginal effect (AME) and its 95% confidence interval for the continuous accumulation (sumworry2) of worries variable (see Table 2, model 1b)*/
margins, dydx(sumworry2) predict(pr) level(95)

/*Predictive margins (i.e., predicted probabilities shown in Table 2, model 1b) for the accumulation of worries as discrete variables are obtained by calculating first the predicted probability for each number of worries.*/
margins, at(sumworry2=(0(1)4)) predict(pr) post

/*To calculate AMEs and 95% confidence intervals, we then calculate whether the predicted probabilities between two successive worries (e.g., from 1 worry to 2 worries) differ or not.*/
/*1 worry vs. 0 worries*/ 
lincom 2._at - 1._at
/*2 worries vs. 1 worry*/ 
lincom 3._at - 2._at
/*3 worries vs. 2 worries*/ 
lincom 4._at - 3._at
/*3 worries vs. 2 worries*/ 
lincom 5._at - 4._at

